Micro Economics
B.A. Part-1, Paper-1

1.Which of the following is not Meaning of consumption?

fArafaf@a # @ Fia a1 swsier &1 JfAuT 781 §:

(A) Satisfying of human wants- HTTAIT HTGRIHT HT HISC
(B) Destruction of utility - 3931f3TdT T fa=Ter

(C) Destruction of the goods - G T fa=ATT

(D) All of the above - 3TRIed T8

2.Who said, "consumption is the sole end and purpose of all production”.
fFuar FeT § 3TN WSl UFR & 3G $T UF AT FRUT dUAT 3687 &

(A) Marshall — AT (B) Pigou - e[

(C) Hicks — fgaar (D) J.S.Mill - F.vE.fAe

3. The principles related to family Budget is

uiRaf® soic & gafta Rgua ¢

(A) from Marshall - & & (B) from Malthus - #ATeaT &

(C) from Engel - tfarer & (D) from Prof. Mehta - Y #gdr &
4. Utility is related to?

IgAifaar fFad wafta 82

(A) Usefulness - STHGRIHAT & (B) Morality - sifderar &

(C) Satisfaction of human wants - AT TERIHATIT T g &
(D) All of the above - 3TRied Tl &

5. Utility can be measured by-

IYNFAAT A AT A AT TR &
(A) by Money - T & caRT
(B) by Exchange of goods - a&3it & fafei#rar eanrr

(C) by weight of goods - a&q & dolel @RI

(D) none of these - B8 & IS =Tgl

6. The law of equi-marginal utility is called-
FA-AATE STANar @Auw F Fer s d-

(A) Law of increasing utility - 3UaTaTer gefer fage
(B) Law of diminishing utility - 39aif3rar g @ae
(C) Law of substitution - faeame faga

(D) None of these - T8 & @IS gl



7.What is the sum of utility derived from all the units of a commodity called?

et avg #1 Tl swmsAl @ wred @ arelt ITAFrAT F T F FAT FaAd B2
(A) Marginal utility - /AT 3931f3rar

(B) Total utility - FeT IUHITT

(C) Maximum satisfaction - 31freds Fdfte

(D) Additional utility - 3ifafRera 3aafrar

8. Who propounded the ordinal utility theory?

ITANfAaT F1 FHAarEas Ryt frasr & 2

(A) Marshall — AT (B) Pigou - e[

(C) Hicks & Allen - &g Ta UoleT (D) Ricardo - Remraf

9. The propounded of law of diminishing marginal utility is:
e suAfaar s s & vfaues &

(A) Gossen — A (B) Adam smith - TsH &AY

(C) Chapman - T9die (D) Hicks — fgaa

10. Consumer's equilibrium is at the point were
3usiieral &1 Wat 39 fig W ar ¥ et

(A) Marginal utility = price (HIATd 3T = He)
(B) Marginal utility < price (FYHTT IUAIAIAT < He )
(C) Marginal utility > price (FYHAIT 39T > Hed)
(D) None of these (3513 & HIS 1gT)

11. When marginal utility is negative, then total utility -

o WAt 3R HomeHAS Y .9 F 3TN -
(A) is maximum - 37T&ehda gl &

(B) begins to decrease - el o9TdT &

(C) increases at a decreasing rate - et & & sSadl ¢

(D) none of these - 378 & &S Al

12. According to the law of equi-marginal utility, the condition of consumers equilibrium
is:

FA-HEATT IYAAAT F AT F IFqAR, 3THFAT F AT hY AT 8

(A) MUa/Pa = MUb/Pb (B) MUa/MUb = Pa/Pb

(C)BothA&B -A3IRBaEt (D) None of these - 37 & @IS oTgT



13. According to Marshall, utility of a commodity-

A F AR R avg A sTAAar F:-

(A) can be measured by money - HaT H AT ST Tl &

(B) cannot be measured by money - HgT # FEI ATAT ST FeheTl &

(C) can be measured in cardinal numbers - E&ITcH® &I H HAUT ST bl ¢
(D) both A& C -A3R Camt

14. The ability to satisfying human wants in a goods is called its:

farelt g F AT AraRTFAT FY Ifef TR FT &TAT R FEq @
(A) Productivity - 3cqTgehdr (B) Satisfaction - €qfSe
(C) Utility - 39af3rar (D) Profitability - SITTGIIehdT

15. In diminishing rate of substitution:

FHATA IfaTYUTgeT T A:

(A) More quantity of goods-1 - a&d-1 #T 3 AT

(B) Less quantity of goods-2 - 9¥d-2 Fr Fe AT

(C) More quantity of goods-1and goods-2 - a&J-1 Td a&d-2 I 3t AT
(D) Both A&B - A3 Baml

16. Which of the following is called Gossen's second law
farafaf@a & @ P e 1 g g Fa1 ST @

(A) Diminishing marginal utility - §HTT 39ifrar g @gs

(B) Law of equi-marginal utility - FH-8YATT 39AETAr &1 T
(C)Both A&B - A3 Bl

(D) None of these - ST & @IS Ag!

17.When marginal utility is zero, then total utility
oq WA 3TN e gt aa o TN -
(A) is maximum - 37Thda 8T &

(B) begins to decrease - e odTdl &

(C) increases at a decreasing rate - gedl &7 & F&dl &

(D) none of these - 377 & HIS g

18. The formula for marginal utility is -
Hara swAffrarFT I e -
(A) MUx =dUx/dQx (B) MUx =dQx/dUx

(C) MUx =dQx =dUx (D) MUx =dQxx dUx



19. Causes of Law of the Diminishing marginal utility are:
HiATa 3uiferar g @aw & FRoT R

(A) Complete satisfaction of particular wants

- HTERIHT Ta T T fSe qUIRIOT & ST Hebell &

(B) Commodities are imperfect substitutes

- {3 TEIV Ueh GEY T QUT: TTAEATI FET gl &

(C)Both A&B - A3 BT

(D) None of these - 378 & IS Ag!

20. The total utility curve is:

Tl 3TAAAT aF @

(A) Always goes upwards - &g FWR 3&dT &

(B) Always goes downwards - §&g A fATar &

(C) First goes up then goes down - 9gel 39X ST & Y =T ST &
(D) First goes down - gl air fORar &

21. Which of the following is not correct in the assumptions of the law of diminishing
marginal utility?

fAfef@a # ¥ sla a1 dwa swafar s Faa & awgant & @@ & 2

(A) The process of consumption should be continuous - 39T &I RAT EMAR 8T AT
(B) units of commodity should not be adequate - & &I FHSAT TATTT AEI Bloil AMGT

(C) consumer's income should not be change - 3T8iedT 6T 3T H IRTdT Aal gl AT

(D) All of the above - 3WRIad T

22. Which of the following comes under the law of diminishing marginal utility?

o=t 7 & Fl7 @1 Hwia svA T s FEH & seasia smar§e
(A)Theory of consumer surplus - 3YIedT ST STd T [AeuTd
(B) Law of demand - #TaT & T ey

(C) Price determination - Fe fT&ROT

(D) All of the above - 3TRIFd T8

23. Which of the following rules would apply when more than one commodity is to be
consumed?

99 Th ¥ HAF FEGHT FT 30T Far g aF fAeafaf@a & @ Fla @1 @A awg g
(A) Law of Diminishing marginal utility will be applied -

AT IuAANar g HFH oy glem

(B) Law of Equi-marginal utility will be applied - FH-EHIT I9ATTAT @ ey gem
(C)BothA&B -A3R BgEr (D) None of these - 378 & IS Al



24. Who among the following gave the concept of cardinal analysis of utility?

fafaf@a & ¥ Fua 3TAPrar & srorar aras RdAvor Y surRom &7
(A) Pigou - 9] (B) Marshall - AT
(C) Hicks and Allen - fgeg 3R waleT (D) Samuelson — ¥HTHT

25. This is required for a budget set-
d9lc ¥¢ & foT 3raeg= &-

(A) Collection of bundles - S8l &l HIE

(B) Prevailing market price - fJagIATH STaR HrAd

(C) Total income of the consumers - 3TN T Fel 3T
(D) All of the above - 3URIed T

26. The indifference curve was first used in 1881 by:

dCEAAT 9% &1 YANT FI9YH 1881 H fFud qanr faam ar=m am
(A) By pareto - Y garT (B) By Hicks - lgor® ga@RrT
(C) By Edgeworth - i@y g@RT (D) By Meyers - #IJd @Rt

27. On which of the following is the indifference curve analysis based?

Serlerar ash faedyor Arafaf@a & ¥ fre o amnRa @2
(A) On the concept of Ordinal utility -

SheAdTHh JTSCITOT shr LIROT T

(B) On the Concept of Cardinal utility -

ITUTATATES JTSCI[OT T ERUT T

(C) Both A and B - A 3iR B g1t (D) None of the above - 37 & &5 3T 78T

28. At every point indifference curve -

IFAAAT T IAF g W -

(A) indicates decreasing satisfaction - Bl T I EATAT §
(B) indicates equal satisfaction - FHT HJfS¢ &I gafar &

(C) indicates unequal satisfaction - 3 AT HJTSE &I AT &

(D) none of the above - 387 & @IS & 7T&T

29. An indifference curve:

TS 3Gl a:

(A) convex to the origin point - Hel f8ig & 3eeiclel 8T &

(B) touch the origin point - I fdig @ T FT §

(C) concave to the origin point - Hel foig & 3R aeTclel 8T &

(D) Convex to the opposite direction origin point - HeT foig & faolia fgem & 3eeidlex giem &



30. In relation to satisfaction right indifference curve
&l 3T FT TCEYAT aF Feqfve &

(A) Indicates equal level- THTT TR I IdTdT &

(B) Indicates negative level - STRIcHS TR &I dTdT &

(C) Indicates higher level- 3Ta TR & §dTdT &
(D) Indicates lower-level - fa@rel TR Y §dTaT §

31. A consumer's equilibrium is at the point where the indifference curve -
UF 3UHIFAT FT Aol 30 faeg W gar ¥ el W deryar 9% -

(A) Touché the income line - 3T ¥@T Y TILF FIAT &

(B) Touché the consumption line - 3TRT IW@T HI TILT FAT &

(C) Touché the price line - AT I@T AT TILT T &

(D) Touché the another indifference curve - g8 JEEIdT I I T T &

32. Who wrote the book ‘Value of Capital’?

Ao 316 Feer qras i e fFaa A2

(A) Edgeworth -Tsl@®y (B) Marshall - AT
(C) Hicks — fgaar (D) Pigou — 9]

33. Who among the following analysed the indifference curve scientifically?
fArafaf@a # & fFaa aceyar o 1 dafas v & ey Far

(A) Adam smith - TSH [&AY (B) Prof. Mehta - 9. AgdT

(C) Hicks & Allen - gF@ Ta ¥alal (D) Prof. Boulding - 9T. sifeser

34. Which of the following is not a feature of indifference curve analysis
fArafaf@d # ¥ Fi9 |1 derydn I feervor i RRvar ag §

(A) The slope of the indifference curve is from left to right.

dCEIAT a%h I BTl JTU H GT¢ A1 T IR AT g

(B) The indifference curve rises towards the origin

ACEIAT I3 T g T HR SeTeller grer &

(C) Any two indifference curves can intersect

IS T &Y TCEAAT I T GER I FIC Tahell §

(D) A higher indifference curve provides more satisfaction than a lower indifference curve.
ST TEEACT Tsh Ueh o11d ACEAT dsh ¥ 3Tk HITSC TaTeT il §

35. Marginal rate of substitution in indifference curve analysis is-

JeTydT a% fedvor #§ diAia gfaeye a¥ g # -
(A) Decreasing - EIET-‘Tg‘é (B) Increasing - a%?-ﬁg?
(C) Similar - FHT (D) All of the above - 3TRIad Tt



36. The marginal rate of substitution of two goods X and Y is equal to-

ar aEgat X aur Y A "eria afaeyree av el g ¢ -

(A) In proportion to prices - SIFAdT & JTardT &

(B) In proportion to more than prices - SIHT & 3fereh o 3eTdre #
(C) In proportion to less than prices - 1A & HH & ITdTd &
(D) None of the above - 39RIFd & & HIg 1T

37. The income effect in inferior goods is-

& Tere & 3T werTa g -

(A) Negative - FUTlcHD

(B) Positive - YallcHh

(C) Both A & B — A 3R B gt

(D) Neither negative nor positive - 5T FUTlcH® 3R T =ATcHS

38. The income consumption curve in inferior goods will be -
81 geTut & 3 39T Ik g -

(A) Rising upwards left - ST 31X ST T 3T T g3

(B) Falling downwards right - GriT 3R i<t T 3T fareer g3m

(C) Both A & B — A 3T B @t

(D) None of the above - 39RFd & & FIS TgT

39. In Giffen goods -

oreer geref # -

(A) There is a direct relationship between demand and its price -
AT 3R 3T A 7 Ay Fer grar g

(B) There is an opposite relationship between demand and its price
- AT 3R 3T AT A Sl HaU giarg

(C) There is no relation between demand and its price

- FT 3R SR FE 3 G e A e &

(D) All of the above - 3TRIFd T8

40. The demand curve of Giffen goods will be-

Frwer gere 1 ATer Tk ghm-
(A) Rising upwards - 39 & 3R TGdr g3 (B) Falling downwards - a‘-ﬁffaﬁrwmgm
(C) Both A & B — A 3iR B gt (D) None of the above - 39RIFd & & FIS =TT

41. The substitution effect on the negative income effect in Giffen goods will be -

frdeT gerel # HoNcH® 3T T3ITT YAy 9T & -
(A) Will be more - 318 glemm (B) Will be less - &3 19T
(C) Will be equal - SIS 19T (D) Al of the above - 3URIed T3



42. According to Pro. Hicks, the substitution effect:

W.feFT & IgER, fawyTTe werma:

(A) Is active at the same indifference curve. - Teh g deEIdT dsh R Toharefiel 81aT ¢

(B) Is active at more than one indifference curve - Teh & 318 deTddr as W fhanrefier giar g
(C) Does not active on any indifference curve - for8Y deTdar g W fohamiiel A& glar &

(D) Al of the above - 39RIeFd T

43. The demand for Giffen goods when the price rises-

7o a9 W T gyt # Hr -

(A) Increases - §G STdT & (B) Decreases - €€ STl &

(C) Remains constant - 2R (&I g (D) Becomes unstable - 31fE2R g ST &

44. What goods does the consumer reduce his demand for when his income increases?

3T TG TN 3T et TEGIHT Y AT TeT 3T §2

(A) Normal goods - §& ST & (B) Giffen goods - &€ STt &

(C) Both A & B — A 3iR B g1t (D) None of the above - 39RI&d & & FIS TgT
45. Demand for tea due to increase in the price of coffee:

HAT & 7T F a0 g1 & AT iy

(A) Increases - S&dl & (B) Decreases - gl ¢

(C) Remains stable - TR TEr & (D) None of these - 38 & $IS AGT

46. Which of the following is the formula for measuring elasticity of demand?
HiaT 1 YT Y ATG FT G AT A A FleT ar?

(A) Proportional change in quantity demanded / Proportional change in price -

3T AT A TR TR / AT A 3efaifcieh gRace

(B) Proportional change in price / Proportional change in demand —

Yol 3 JFefaTTeien TR | 19T 3 Fefarfereh aRedet

(C) Change in demand / Change in price -

AT H IRadeT / HrAd & IRATT

(D) None of these - 3AH & PIS AGT

47. Elasticity of demand is measured by which of the following method?
AT Y A & A9 Arfaf@a & @ e R/ @ frar amar @2

(A) Total Expenditure Method - FeT <3 fafey

(B) Percentage or Proportional Method - Sfcirel IT 31rejaricier fafer

(C) Point Method - feig fafer

(D) All of the above - 3TRId T8



48. Expresses relative elastic demand: -

AYET ATIER AT ) TFd FIAT & :-
(A) AQ/Q>AP/P

(B) AP/P>AQ/Q

(C) AP/P=AQ/Q

(D) None of these - 318 & IS 8T

49. The elasticity of demand for essential goods is-

RIS TEIIHT HY AT A v el 8-
(A) Zero — T (B) Grater than one - Te & 3%

(C) Unlimited — 3r&fifaa (D) Less than one - &1 & &

50. The price elasticity of demand means:

AT 1 HAT AT F AT

(A) Change in demand due to change in price - HT & IRAdT & HRUT HATIT H IR
(B) Change in demand - HRT & 9=

(C) Change in real income- arEdfas 3T & IRad=

(D) Change in price - $Hd & 9Rad=T

51. Which of the following goods has the least elasticity of demand?
frrafaf@a & & wa@ w3 AT A o Fw arg F: 2

(A) House - Helel (B) Television - ¢ellfasteT

(C) Car - dR (D) Salt — sTH

52. The theory of cross elasticity of demand was propounded by:

Hiar Y 3TN wirer 1 Rt e garr wfawfea R arar o

(A) Robinson — Tife=gel (B) Samuelson - AHHT

(C) Prof. Moore - 9. [T (D) None of the above - 3TRIed & & HIS el




53. The following picture shows: -

fafaad Ry yeRia Fwart :
Y
Price D D
0 ¥ X
Quantity

(A) High Elastic Demand - 37T SRR AT

(B) Perfectly Elastic Demand - qUIdT: SlIIGR AT
(C) Perfectly Inelastic Demand - q,}fl?r: SAIER AT
(D) Inelastic Demand - SEEER ATIT

54. The following picture shows: -

ffaf@a R Far 9efia Ftar € -
Y D
Price
0 D X
Quantity (HTA)

(A) More Elastic Demand - 31f9% dIgR &4

(B) Perfect Elastic Demand - qUIdT: |G HfaT
(C) Perfect Inelastic Demand - quTd: SR HIdT
(D) Inelastic Demand - SATIGR HAT

55. The elasticity of demand is:

A i N T

(A) Qualitative statement - I[0TIcAs YT (B) Quantitative statement - ATATcHE HUsT
(C) Both A & B — A 3iR B gt (D) None of these - 38 & HIS gl



56. If there is a 60% change in demand due to a 40% change in the price of acommodity,
then the elasticity of demand is:

IfE vF IFG F AT A 40% IRTIT F FROT AT H 60% TRAAT g ar Ar Hr A

(A) 0.5 (B) 1.5
(€)1 (D) 0

57. Match the following columns

fArafaf@a siaa w1 Fas :
Column-1(HTaH -1) Column-2 (e -2)

(a) Essential goods (3Td?deh ER—T:,Bﬁ)- 1. Elasticity of demand is positive
(FTIT Y AT GATHP Bl 8)

(b) Comfortable goods (3RTHETIS TE]) 2. Zero elasticity of demand
(T AT Y 1)

(c) Luxury goods (fenf&iar a&q) 3. Relative elasticity of demand

(@maferes AT Fr o)
(d) Giffen goods (faTtheT a&q) 4. Greater elasticity of demand
(3rcaf&re AT o)

Code (%) (a) (b) (c) (d)

(A) 2 1 4 3

(B) 4 3 2 1

(C) 2 3 4 1

(D) 4 1 2 3

58. Who propounded the percentage or proportional method to measure elasticity of
demand?

Hiar F T B AA F AT gfderd a1 srquifas fAfY w1 afauree e frar
(A) Marshall — AT (B) Flux - ot

(C) Hicks — &g (D) None of these - 378 & HIS gl

59. Which of the following expresses the elasticity of demand less than one?
HE A FA AT N T F A=faf@a § & w9 cgga wwar @

(A) Essential goods - 3TaR¥eh d&] (B) Comfortable goods - 3TRTHCTAS a¥d
(C) Luxury goods - faefadr a&q (D) All of the above - 3TRIFd THT

60. The nature of cross elasticity in Complementary goods
& FEGHT A uf Ao andeTaar gy @
(A) Negative - FUTlcHD (B) Positive - YeITcHR



(C) Both A & B — A 3iR B g1t (D) None of these - 38 & $IS AGT



